
Exam B: Solution

Question 1: The three required codes are:

For n = 2 the sum is 0.75 and for n = 4 it is 0,9375.

Marks: 10 points for i), 5 points for ii) and 10 points for iii)

Question 2: The answers are:

Marks: 8 points for i), 8 points for ii) and 9 points for iii)
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Question 3: A possible code would be:

Marks: 8 points for correct variable definition, 9 points for correct loop
structure, 8 points for correct display of the program’s output.
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Question 4: The code would be:

Marks: 5 points for correct variable definition, 5 points for correct
InputBox structure, 5 points for correct If structure, 10 points for
correct MsgBox structure and WS display of n1− n2.

Internal examiner: Dr. Olalla Castro-Alvaredo
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